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Nanyang Primary Schiool
Primary 3
_Mathematics
Term 1 Weighted Assessment

Name:r_ — ¢ ) | Marks:

Class: Primary 3( ) I /20

Date: .. . Parent's Signature:

Duration: 48 minutes

Please sigh and refurn the paper the hext day. Any queries should
berajsed at the same fime when refuming paper.

Questions 1 10- 3 cany 2 matks oach, For each quesfion, four options arg
given.. One of thehy Is the correct answer. Make gourcholce (1, 2, 3 or 4)
and write youranswer (1,2, -3 or4} in the bracket{ ) provided. _

' {6 marksy

"1.  What isthe difference betivesn 748 aid 85272

(h o215
@ st
B3y 7779
4) 1047




2,

" Arrange the following numbers in increasing order.

{ 3164 3601 3146 J

-y 3601, 3164,3146

(2) 3601, 3146, 3164
(8) 3164, 3146, 3601
(4) 3148, 3164, 3601

Sasha spent $250 at ABC departmental store. _
She bigught 2 smicrowave oven, Sone mugs and 'some plates,
she bolight fewe i"ﬁglatetszﬂfa:ﬁ\ mugs.

did she buy?

How nvany plafes:

Misrowave Oven

M 8
@ 2
@ 8
(4 10



P
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-Questlans 4 to= 8'carry 2 marks each Shew your working e!eaﬂv and wmfe

youir answers iiv thie spaces provided, For questions which require units, give
your ariswers in-the units stated. | (1o maﬂgs)

4. () Writgfive thousand and sfikty-five in numerals.

Ans: (a) __

fby Use-all the digits fo form the smallest 4-digit odd number,

Ans:ib) .. .

5. Study the riuniber pattem careﬁﬂty

What is. the missing number?

Ans:




6 A sh!rl cﬁsts §42,
A cap costs $19.40 less than the shirt.
How tmuch does the cap cost?
Ans: §
7. An adult tickei fo:a therne park ¢osts $25.50.

A-ohild tickst costs $11.20.
FHow much does a family of 2 adults and 1 ¢hild pay?

BP-46
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P

~ Ali, Bala, Chang and Dayl mnt to-the zoo..

Al of tham wanted o ride ot a. pony baf the pony-cold only take=
2 of themat a tims..

How many different ways could they pair up fortha ride?

Ans:_
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Fer question 9, show your working claarly and wiite your answers In the
spaces pravided, The number of marks available Is shown in brackets | Jat
the end of each questior or-part-question. (4 rhaks)

9, Thedifference between two numbers is 625.
The greater numberis 714, . '

(a) 'What is the smaller number? |

Ans: {d) . 2]

(6] What s thesum of the two numbers?

End of Paper



Nanyang Primary School
Primary3d -
Mathormatics’
Term 1 Weightad Assessmont
. Name: . i ot '-)" Marits:

Class:Prmary 30 ) . f20
Date: ‘ Parent's Blgnature:

Duration 40 minutes

Please sign and returg the paper the next day. Any querles sheuld
be ralsed at the sameiime when retuming paper.

e
Questions 1 fo $'cany 2 maricg"'e-adz For each question, faur oplions are
given. (re of tham [s the conBct answer. Make your chokes {1, 2, 3 ar d)
and write your enswer {1, 2, 3 of 4} In the bracket{ '} providad,

{6 macks)
1. Vihat s the difereccs bebwasn 48 and 85277

Kt vy
(1 ozrs Tgﬁ!;(
@ et - 148
o ne 1119
{4 - 1087

{ 3)

Questions 4 to 8 cary 2 marks sach, Show Your working clearly and wiite
youe answens [n the spacas provided, For questions which requine unlts, give

yaur angwars In the unlts stated. {1

4, {a} Wiite five thousand ind sbdy:five n rumerals, .

At _B065

&} Uss el tha diglts & form the smaflest 4-diolt odd oumber.

goon

i 265
T
grmllest  greajest
odd anscpy 1265

5 *  Study the number pattemn carsfilly.
What Is the missing nomber?. -

943, 1043, n.1248. 1843, 1443
et - AN (N

\__JA
- #100 “Tige 400, 4100 4100 -

e 1B

2. Amengathie Kallowing numbers in inoreasing ordor,

[ sl mm He ]

) 2601, 3164, 3546 ?;?64' .

@) o0l 5146,3184 ol (Bm-icsf-')
(3) 364, 3148, 3604 3 !@g {sprallest)
(d} 148, 3164, 3801
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3, gasha spent $250 atABC deparimantai slora.

She bought 2 miovowave oven, some migs.and some piales,

Sho bought fewer plsies then misgs.
How et dld shb buy?

w5
@B\2  Using auese and check method,
@ = =

PR Lokl i R e i o

ECU | g‘gﬁx = RI0% I

Note: fiseaderto |0 U200 2 [boebippal,

Work wi : : -
puattiples oft 10 -

8. Ashit coats §42, '
A cap costs $19.40 loss than the shid.

.5#250 - 150 = $ 100 (for pigs and plats,

-How much does the cap cost?
y §42 \ ;
= e
ghirt _ T Pag-do
. L ] 11950
e Ten 2.6 0
7 .
C 48 19.40 = 2240
The cap fosts §9240.
A 2260
T Anadl.ﬂ!lrckeunathameparkmsza:‘;o..
. Achlid ticket costs $11.20,
How muck does & Tamfly of 2 adul and 1.child pay:
% 50
Zodults ¢ .25-50 + 25-50 = 5l.00 +25.50
- s1-
3 adelts ond | child 3 Sl-oo 11205 6220 1-0o
5100
A adutte ud "V chitd” pay Bb2-20 - |20
fonily of L adutts aud | child pay Ot

B $ 61«2-0
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AN, Befa, Chang andf Dayl wont {o ths Z00. . Por quation B, show yeur workdng cleasly and wiils your answers i tha
- Al oF fiem wanled to ride 5 8 pory bul the pony could enly lake spaces provided, The number of merks avalible 16 shown In brackets | Jat™ -
2 of them ot a tme. {he nd of each question or part-queslion. . . (4 marks} . ©
How many different ways could they pelr up for the'fide? . . K . i

9. Thedsference betwaen two numbbors Is 625,
Tha grestsr murber Is 714,

A :: : g / c Cc—b fa) i-}’hallg'mewmbjr‘:lmiﬁr’f. ' I"J}]{z
\ ~p . ~425
rendes ’ 7
smallee [ Yo
1
Tk ~ bas =89

The Smalles vuimber is 8q.
Ans: &) _8':] : [

{b) Whatls the sum of the two numbers?

7 Ny
£ — + 84
+ aler 1 mnﬂer‘ S0 32
N mw . BT
Tis + 89 = 803
Tae summ of o two oumbers IS 803
w893
6 End of Paper

Ans:




